LM Ericssons BK
Finlandskrysning 2 2019 2019-08-20

Partavling, 10 bord, 19 par. Antal brickor: 24. Medel: 191.9. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 8 2422  63.07 Sune Westin - Birgitta Westin 92759 92758 Malaro BS
2 5 229.1 59.66 Rickard Kumlien - Kjell Kumlien 18155 44832 LM Ericssons BK - Hokopinge BK
3 14 220.0 57.29 Kerstin Thulin - Johan Saxback 89591 53022 LM Ericssons BK - RD Trivselbridge
4 18 216.0 56.25 Ingemar Kjellberg - Roland Karlsén 92765 37133 LM Ericssons BK - Norrorts Bridge
5 4 213.8 55.68 Basil Khalili - Tony Lindgvist 14634 16808 LM Ericssons BK - BK S:t Erik
6 10 204.0 53.13 Goran Ryman - Roger Lind 21622 92755 BK S:t Erik - LM Ericssons BK
7 3 200.7 52.27 Ulf Ostberg - Anne-Christine Carlsson 79649 92767 LM Ericssons BK
8 20 197.0 51.30 Hakan Asplund - Ola Olsson 36237 9856 LM Ericssons BK
9 6 196.4 51.14 Carl Gustaf Dahlin - Leif Karlsson 2369 92756 LM Ericssons BK
10 19 192.0 50.00 Peter Ahlstrém - Géran Sundeman 78676 81047 BK S:tErik
11 2 186.5 48.58 Ewa Meijer - Britta Lindqgvist 6323 36332 Malaro BS
11 11 186.5 48.58 Lennart Karlberg - Ami Emilsson 2185 26579 Malard BS
13 15 185.0 48.18 Hakan Hakansson - Magnus Eriksson 9597 92770 LM Ericssons BK
13 17 185.0 48.18 Irene Rune - Caroline Tesch 85381 80715 BK TvaEss - BK S:t Erik
15 16 172.0 44.79 Ake Samuelsson - Birgitta Samuelsson 92769 92768 LM Ericssons BK
16 7 164.7 4290 Hans Widlund - Mona Lund 2187 36263 Malard BS
17 12 1625 42.33 Gunnar Hansson - Christina Bostrom 8589 81953 LM Ericssons BK
18 9 148.4 38.64 Elisabeth Ahlstrém - Marianne Sundeman 64005 59681 BK S:tErik
19 1 144.0 37.50 Ake Nilsson - Dagmar llrot 82122 82123 BKTvaEss
1 & K8642 2 4 D1054 3 4 D1032
Nord vKn7 Ost v Kn765 Syd vE4
Ingen +53 NS +5 ov 49875
#EK92 #KD95 %954
4 D10973 #E & EKn8 a K 497 4 E64
v 986 v KD52 vED v K10432 vKnl0652 D873
¢ EK876 ¢ Kn92 + K4 + Kn9862 + K2 + ED643
»- #Kn8543 #E107643 #Kn8 D632 &E
4 Kn5 497632 4 KKn85
vE1043 v 98 vK9
¢+ D104 ¢+ ED1073 ¢+ Knlo0
#D1076 *2 #KKn1087
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 14 24 0O-2 ] 100 150 1.0(18 10 4v O -4 *2 200 16.0 00|11 18 24 N= A 110 150 1.0
19 2 4e V-2 &K 100 150 10| 4 17 3NV-3 a4 150 140 20|14 7 24 S= v2 110 150 1.0
18 10 3¢ V-1 *A 50 120 4.0|12 15 3NV-1 a5 50 100 6.0|12 4 4v V-1 43 100 12.0 4.0
4 17 2v S-1 ¢ A -50 90 7.0|16 8 3NV-1 a5 50 100 6.0(17 5 24 S-1 ¢+ K -50 10.0 6.0
7 9 24N-1 s A -50 90 7.0|20 5 3NV-1 a4 50 100 6.0| 6 20 24 N-2 *A -100 7.0 9.0
12 15 2¢ V= vl] -90 6.0 100| 7 9 24V +1 +5 -110 50 11.0| 9 16 34 S-2 +K -100 7.0 9.0
11 3 2¢ V+1 »A -110 20 14019 2 3«V= +5 -110 50 11.0| 1 15 3v V+2 »4 -200 4.0 12.0
16 8 2¢ V+1 46 -110 20 140| 6 14 2NV +1 a4 -150 20 14.0| 8 10 4v V= 43 -620 2.0 14.0
20 5 3¢ V= v] -110 20 140|111 3 3NV= +K -400 0.0 16.0|19 3 4v V+1 4Q -650 0.0 16.0
-1 60| - 1 60| - 2 7.8
4 « EKD3 5 4103 6 « EKD95
Vast v KKn96 Nord vKn7 Ost vK974
Alla +92 NS + Kn87653 ov ¢ 103
#K96 &542 #EK
45 & Kn942  ED7 4652 & Kn2 4 8743
vED103 w742 vK9832 D105 vE103 v65
¢ DKn87 #K6 ¢ E2 +D9 49865 ¢EK
#Kn1043 #D875 2863 #EKKn97 #D1052 #98643
410876 & KKn984 4106
v 85 v E64 v DKn82
+ E10543 + K104 ¢ DKn742
*E2 «D10 *Kn7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 16 24DN+2 &7 1070 16,0 00| 9 11 4v V-1 +3 50 150 10|20 7 3NS+1 +9 430 16.0 0.0
11 18 3NN= a4 600 13.0 3.0|18 12 4v V-1 aT 50 150 10| 1 5 4v N= ¢ A 420 12.0 4.0
19 3 3NN= a2 600 13.0 3.0| 4 19 3#0= v6 -110 120 40| 6 17 4v N= +K 420 12.0 4.0
12 4 INN+2 a2 150 100 60| 6 17 3« O+1 vA -130 100 6.0|18 12 4v N= v6 420 120 4.0
14 7 34 N= *7 140 80 8.0|15 2 2vV+1 aT -140 70 9.0|10 16 2v N+2 »7 170 7.0 9.0
6 20 2NN = &5 120 5.0 11.0{20 7 2v V+1 aT -140 70 9.0|15 2 3v N+1 ¢ A 170 7.0 9.0
8 10 INN+1 a4 120 5.0 11.0|10 16 4v V= aT -420 3.0 13.0| 9 11 24 N+1 ¢ A 140 4.0 12.0
1 15 INN= &5 90 20 14.0|14 8 4v V= *7 -420 3.0 13.0| 4 19 1e N+1 +K 110 2.0 14.0
17 5 3NN-2 &5 -200 00 16.0| 1 5 4vV+1 aT -450 0.0 16.0|14 8 3NS-1 »2 -50 0.0 16.0
-2 78| - 3 84| - 3 8.4
7 4 E6532 8 « D64 9 4 D742
Syd v K72 Vast v 853 Nord v KKn72
Alla + 8765 Ingen ¢+ EKKn104 ov +5
29 #105 2K1097
4Knl04 &KD 4 Kn32 «K1087 4 K5 41063
v 1085 v D94 vK102 vED74 vE98 v 10543
¢ K10432 ¢ D9 +D82 ¢53 ¢+ Kn3 + D864
&52 #ED8763 &#E974 #K63 #ED8652 #43
4987 «E95 « EKn98
v EKn63 vKn96 vD6
¢ EKn 4976 + EK10972
#KKn104 #DKn82 &Kn
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
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2 6 320-3 49 300 16.0 0.0| 8 20 2NV-2 ¢A 100 150 10|20 9 44 S+1 v8 450 16.0 0.0
14 9 2v S+1 *5 140 140 20|14 9 3vO-2 ¢9 100 150 10|11 1 4a4S= ¢J 420 140 20
10 12 2NS= *5 120 110 50| 7 17 2NV-1 ¢ K 50 120 4.0|14 10 3NN= v3 400 120 4.0
15 3 2NS= &5 120 110 50| 2 6 3¢ N-1 a7 -50 9.0 7.0| 6 19 24 S+2 +J 170 10.0 6.0

118 2vS= *5 110 6.0 10.0|10 12 2¢ N-1 3 -50 90 7.0(16 12 34 S= ¢J 140 80 8.0

7 17 24 N= &K 110 6.0 10.0|15 3 INV= *T -90 6.0 10.0] 3 7 2NN= v3 120 6.0 10.0

8 20 2v S= *5 110 6.0 10.0|16 11 INV+1 oT -120 30 13.0| 2 18 24 S= *J 110 4.0 12.0
16 11 INS= ¢3 90 20 14.0(19 5 INV+1 ¢+ K -120 30 13.0{15 4 3NN-1 3 -50 1.0 15.0
19 5 34 N-1 v4 -100 0.0 16.0| 1 18 3vO= +9 -140 0.0 16.0|17 8 44 S-1 +J -50 1.0 150

- 4 89| - 4 89| - 5 9.5
10 432 11 +E 12 4 DKn85
Ost v E62 Syd v9 Vast v Kn8
Alla 4983 Ingen + 108643 NS ¢ E93

#108543 #1076532 #EKn83
& KD9 410854 4 KKn10874 49632 a4 4E76
v 108 v KKn3 v E862 v K10743 vK10653 vED72
¢ EKDKn102 ¢ 75 *7 ¢ Kn95 + D6 ¢ 108542
*D7 #EKKn6 #98 *Kn #KD1062 &5
« EKn76 D5 # K10932
vD9754 v DKn5 v94
¢ 64 ¢ EKD2 ¢ KKn7
*92 #EKD4 *974

Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
20 9 3¢ V+3 43 -170 160 0.0|14 11 64 S= *7 920 150 10|15 5 24 S+1 #K 140 150 1.0
16 12 3NV +1 &5 -630 140 20|19 7 6#S= *7 920 150 1.0(|19 7 24 N+1 &5 140 150 1.0

2 18 3NO+2 v5 -660 80 80| 4 8 3NS+3 28 490 8.0 8.0|10 20 4v V-1 a5 50 11.0 5.0

3 7 3NO+2 v5 -660 8.0 8.0|10 20 3NS+3 LX) 490 80 80|16 1 5vV-1 +Q 50 11.0 5.0

6 19 3NO+2 v5 -660 80 80|12 2 3NS+3 8 490 80 80|17 9 3vO= &4 -140 80 8.0
11 1 3NO+2 ¥5 -660 8.0 80|17 9 3NN+3 4 490 80 80|12 2 3vV+l vlJ -170 6.0 10.0
17 8 4NO+1 v4 -660 8.0 80|18 3 3NS+3 L) 490 80 80(14 11 4v V= «Q -420 3.0 13.0
14 10 4NO+2 v7 -690 10 150(16 1 54S+1 *7 420 20 14.0(18 3 4v V= +Q -420 3.0 13.0
15 4 3NO+3 ¢5 -690 10 150(15 5 4#S+2 *7 170 0.0 16.0| 4 8 4vDV= «Q -590 0.0 16.0

- 5 95| - 6 82| - 6 8.2
13 # EKn 14 a2 15 « 10873
Nord v 106 Ost v Kn109 Syd v 108
Alla ¢ 98642 Ingen ¢ KD1062 NS +D3

#K842 #KD72 #KKn963
4943 4 D10752 «KD87 4643 # 964 «ED2
vEDKn9 v8732 vEDG653 v842 vKKn92 vE7543
¢EKn5 +D10 +Kn ¢ E97 ¢+ Knl1074 <+ E2
#Kn106 #D5 #E96 #Kn1053 #52 #E104

» K86 « EKn1095 & KKn5

v K54 v K7 vD6

¢ K73 ¢ 8543 + K9865

#E973 *84 «D87

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

8 19 3v V-2 *4 200 160 0.0|14 12 3¢ N= *J 110 160 00|18 5 INO+2 ¢5 -150 16.0 0.0

5 9 2vV= s A -110 13.0 3.0| 8 19 3v V-2 +K 100 13.0 3.0|15 7 2v O+2 &7 -170 13.0 3.0
16 2 2vV= *4 -110 13.0 3.0|16 2 4v V-2 a2 100 13.0 3.0(17 11 3v O+1 5 -170  13.0 3.0

1 3 2v0+1 3 -140 80 80| 5 9 2aV-1 +K 50 90 7.0| 2 4 1lvO+4 8 -200 80 8.0
14 12 29 O+1 +3 -140 8.0 8.0|17 10 3v V-1 +K 50 90 7.0(16 3 2v0+3 +8 -200 80 8.0
15 6 34 0O= +3 -140 80 80(11 20 4¢ N-1 v8 -50 6.0 10.0(20 12 2v O+3  #3 -200 8.0 8.0
11 20 3¢ N-2 5 -200 3.0 13.0] 1 3 4¢ N-2 v4 -100 4.0 120| 1 14 4vO= L) -420 20 14.0
18 4 34S-2 49 -200 3.0 13.0|18 4 3v V= a2 -140 2.0 140| 6 10 4v O= +6 -420 2.0 14.0
17 10 2NS-5 49 -500 0.0 16.0{15 6 5¢DN-3 v7 -500 0.0 16.0| 9 19 4v V= ¢3 -420 20 14.0

7 - 6.9 7 - 6.9 - 8 10.1
16 « K9542 17 485 18 « EK732
Vast v 752 Nord v 102 Ost vD1095
ov ¢ 842 Ingen ¢ EKn1083 NS 4863

«D10 #K972 &7
4Knl0 4863 4 K74 432 4109864 4 DKn5
vKD94  vKn6 vEDKn73 v9654 vEK43  v7
¢ EKn96 ¢ KD107 ¢ KD2 ¢ 64 ¢E94 ¢ D752
#653 #Kn872 «83 #D10654 3 #EKn1064

«ED7 « EDKn1096 a-

vE1083 v K8 v Kn862

+53 + 975 ¢ KKn10

#EK94 #EKn #KD9852

Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang

9 19 1v V-2 a2 200 160 00| 3 5 44 S+1 vA 450 160 00|14 2 34 V-3 v9 150 15.0 1.0

6 10 24 S+2 a) 170 13.0 3.0| 8 15 44 S= ¢+ K 420 13.0 3.0|17 12 44 V-3 *7 150 150 1.0
17 11 24 S+2 3 170 130 3.0|20 1 44 S-= vA 420 13.0 3.0 7 11 24 V-1 &7 50 10.0 6.0
15 7 INS+2 *6 150 100 6.0|16 4 34 S+1 *8 170 70 9.0|16 4 4a4V-1 &7 50 10.0 6.0

1 14 24 S+1 vK 140 4.0 12.0|17 12 24 S+2 8 170 70 9.0/19 10 34 V-1 &7 50 10.0 6.0

2 4 24 S+1 vK 140 4.0 12018 6 24 S+2 +K 170 70 9.0| 8 15 3v N-1 2 -100 6.0 10.0
16 3 24 N+1  vJ 140 4.0 12.0|19 10 34 S+1 a4 170 70 9.0{18 6 3NN-2 +Q -200 4.0 120
18 5 24 S+1 a) 140 40 12014 2 24 S= 8 110 20 140| 3 5 4vS-3 3 -300 20 14.0
20 12 24 N+1  vJ 140 40 120| 7 11 4v V-2 8 100 0.0 16.0{20 1 5¢vDS-2 <A -500 0.0 16.0

- 8 101 9 - 6.2 9 - 6.2
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19 4743 20 3 21 «E5
Syd v 10983 Vast v D86 Nord vE1087
oV ¢ Kn1086 Alla ¢ EKn84 NS ¢ EKn10
«107 #ED1093 #EKn97
4 EKDKn +10 4KD42 #EKn876 4K10984 3
vEKDKn54 v6 vKKn74 vE92 vKKn4  vD62
+K ¢ 9542 ¢102 + K3 ¢ 654 ¢ KD93
»86 #EKD9532 *K75 #Kn62 «85 #D10432
# 98652 #1095 « DKn762
v72 v 1053 v 953
¢ ED73 ¢ D9765 ¢ 872
*Kn4 84 +K6
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res ing
18 7 6NO-3 ¢*A 300 16.0 0.0]19 11 24DN+1 ¢K 380 16.0 00|20 3 2NO-3 v9 150 0.0
5 16 6NV-2 *J 200 140 20| 5 16 44 0-2 8 200 120 4.0|19 12 INN= &2 90 2.0
15 9 3NO+4 49 720 12.0 4.0| 8 12 44 O-2 8 200 120 4.0|10 15 3NN-1 3 -100 6.0
4 6 6#V= *J -1370 9.0 70(15 9 44 0-2 8 200 120 4.0|16 6 2NN-1 3 -100 6.0
17 1 62V= *J 1370 9.0 70| 4 6 44 0-1 8 100 6.0 10.0{18 8 3NN-1 3 -100 6.0
314 6240+l 4 -1390 5.0 110(17 1 44 0-1 8 100 6.0 10.0| 5 7 3NN-2 3 -200 12.0
19 11 62V +1 &7 -1390 5.0 11018 7 44 V-1 8 100 6.0 100 9 1 3NN-2 ¢+ K -200 12.0
8 12 6y V+1 v8 -1460 10 150 3 14 24 O+2 8 1700 2.0 14.0|14 4 3NN-2 ¢+ K -200 12.0
20 2 6y V+1l  &T -1460 10 150(20 2 44 0= v5 -620 0.0 16.0| 2 17 3NN-3 *2 -300 16.0
- 10 85| - 10 85|11 -
22 10 23 «KD73 24 4872
Ost v K6 Syd v K6 Vast v Kn106
oV ¢ Kn9642 Alla + ED7 Ingen ¢ DKn7
#D10975 «D864 #Kn1087
«E9532 4 DKn + Kn6 «E102 410943 4 D65
vE10 v Kn9875 vED1095 vKn832 vD42  vEK973
¢E ¢ K1053 + K105 ¢ Kn3 +82 +10943
#EKKNn86 #32 «E109 *K732 #KD53 &2
« K8764 #9854 « EKKn
v D432 v74 v 85
+ D87 498642 ¢ EK65
*4 #Kn5 #E964
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res ing
9 1 44V-3 v6 300 150 10|17 3 4v V-1 oK 100 16.0 0.0| 5 14 3&#N= vA 110 10
14 4 3NO-3 o7 300 150 10| 5 14 3v V= oK -140 9.0 70| 7 16 3#S= v2 110 1.0
10 15 54 V-2 o7 200 100 6.0| 6 8 3vV= oK -140 9.0 70|19 1 2¢ N= vA 90 5.0
16 6 44 V-2 +6 200 100 6.0| 7 16 2¢ V+1 &K -140 9.0 7.0|120 4 1e N+1  ¢2 90 5.0
20 3 3NV-2 T 200 100 6.0|10 2 2¢vV+1 &K -140 90 70| 6 8 5¢S-2 &K -100 10.0
2 17 4o V-1 oT 100 50 11.0(15 11 3v V= *4 -140 9.0 70|10 2 2¢S-2 v2 -100 10.0
19 12 3NO-1 v3 100 50 11.0(19 1 2v V+1l &K -140 9.0 7.0|15 11 3NN-2 v7 -100 10.0
18 8 3&V+1l o7 -130 2.0 140| 9 18 2¢V+3  +Q 200 2.0 140|17 3 5% N-3 vA -150 14.0
5 7 1aV+3 &7 -170 0.0 16.0|20 4 2¢vDO+1 #4 -870 0.0 16.0| 9 18 2¢vDO= K -470 16.0
1 - 7.8 12 - 6.8 12 -
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